
21 Sections Crew Tasks Movement Gunnery & Marine Fire
MOVE PHASE Rigging Hull Crew Prior G-t Current G-t Marine

Fire1 2 3 4 1 2 3 4 S1 S2 S3 S4 M CQ S1 S2 S3 S4 M S1 S2 S3 S4 M BSS WF MA Plot Move ESS Selection Target P/S Rng Aim BGN SoM MGN CH? Notes

BRITISH
C FS MS no
C FS no

C X FF X X no

B no
C FS Y
C FS no

B RR RR no
B RR RR
C RR RR no
C RH RH
C RR X RR no
D FF FF
C mf no
E FF X FS no

C no
D RR RR no
C no
C no
C FF FF no
C X RR X RR

FRENCH
B MS MS Y
C MS MS FF no
C FF FF no
C FS RR
C RR RR no
C FF FF no

C MS RR no
C no
C no
D no
G
C no

D X no
B FF FF no
C RR RR no
C FS no
C FF FS no
E FF FF no
C RR X RR no

Alfred
Belliqueux

Invincible

BARFLEUR
Monarch
Centaur

America
Resolution

Prudent
Bedford

LONDON
Royal Oak

Montagu
Europe

Terrible
Ajax

PRINCESSA
Alcide

Intrepid
Shrewsbury

Pluton
Bourgogne

Réfléchi
AUGUSTE

Scipion
Hercule

Sceptre
Northumberland
VILLE de PARIS

Saint-Esprit
Solitaire
Citoyen

Conquérant
Jason

Ardent
DUC de B.

Eveillé
Provence
Neptune

FS 21 FS 1 P 1 done MS SCEPTR P 6 h 20 1 21
FS 21 FS 1 done FS Closest (Low) PLU P 1 L 24 5 29 Y= -1m

FS 21 FS 0 (does drift) FS SCIP P 4 L 23 -17 6 miss

MS 21 MS (R) 3 done MS NORTH P 3 L 26 3 29  RS1=r07 Sheets Cut -1mp/accel for gt22
MS 21 Illegal: (L) 1 FS Closest (Low) REF P 7 L 18 2 20  Incorr. move: had to go "1" at start @ spd=3.
MS 21 M 1 done FS SCEPTR P 6 L 20 1 21  blocked wind on gt22

FS 21 FS 1 S Pass FS Closest (Low) HERC P 6 L 18 -5 13
FS 21 FS noslip: S 3 FS (notarget) 3 -
FS 21 FS 2 S Pass FS REF P 7 L 16 1 17 RS2= r07 (sheets cut) -1MA -1accel 
FS 21 FS 1 (L) done FS Closest (Low) (notarget) -1 -
FS 21 BS 1 (L) 1 done FS VILLE P 3 L 26 -10 16 RS2= r06 -2op ||  HS2= h09 -2GDp  ||   1MC = +.
FS 21 1 (L) 2 (L) done FS No Fire (nofire) - -
FS 21 FS (R) 4 FS CONQ S 1 L 26 -3 23 RS1= r02 not fall -1r  ||  HS1= -2GDp   ||   MC= +.
MS 21 MS S1 then ram FS ARD P 5 L 20 -9 11  no

MS 21 MS 1 S 3 done MS PROV P 8 L 16 2 18
FS 21 0 done FS NEP S 4 L 23 -5 18
MS 21 MS 1 S 4 done MS PROV P 6 L 19 1 20
MS 21 (nonesofar) {SC: 2} MS JASON P 2 L 26 -1 25
FS 21 2 done FS PROV S 7 L 16 1 17
FS 21 FS S1 Pass FS (notarget) -7 -

MS 21 (L) 1 done MS INV S 1 L 27 8 35 Y= -1m
MS 21 MS 1 (R) done MS MON S 8 L 17 2 19
MS 21 MS 1 (R) done MS MON S 7 L 15 1 16 CH= -1GDs
FS 21 FS illegal:  2 FS (notarget) 1 -  Max. decel=2!
FS 21 FS (R) 1 done FS INV S 4 L 24 - 24
FS 21 FS 1 (R) done FS PRU S 7 L 19 1 20

MS 21 3 done MS INV P 3 L 25 4 29  (gives a Stern rake (Srk) = 2x crew)  
FS 21 FS 2 done FS BAR S 3 L 25 1 26
MS 21 0 - DRIFT done MS LON S 3 L 28 1 29  Drifts.
MS 21 MS (L) 1 done MS BAR S 6 L 23 -12 11
Dis 21 Dis - -
FS 21 FS 0 done FS LON P 2 L 26 - 26  Drifts.

FS 21 FS 1S2 then rams FS MGU P 1 L 27 -15 12 Y= miss
FS 21 FS 1 (R) 1 done FS ALC P 2 L 22 -6 16 RS1= r02 not fall -1r  
FS 21 FS Fail: 3 P FS EUR P 5 L 20 1 21
MS 21 MS P 1 done FS MGU P 3 L 25 - 25
MS 21 Fail: 1 P 2 FS EUR P 7 L 15 1 16
FS 21 3 done FS INTP P 7 L 15 -8 7  HS1= -1GDp  ||  1MC= F.

X FS 21 FS 1 (R) OK FS MGU S 1 L 27 -4 23  no  Is rammed by EUR.  Fouled.
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RS3= r06 -2op || SS2 = 2MC || CH= h10 -1h -2GDp -2 GDs (is NOT on fire!) > HS3 ||
HS3= hc1: h05 -1m MC / hc2: h06 -1h / + 2MC ||     5MC = +++++ !

OK: wins Cont.hex Y:-1s CONQ
Rams NEP, cannot bear off!  -3r  ||  RS2= r05 LJ (ignore b/c only FS)

ram: -2r  ||  FOULED!  ||  RS1= r02 not fall -1r  ||  SS1= MC  ||  1MC= 
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